EARAROBEEIERT — 2 N— IBISH —F

2016838260 (+) 2E+=R5H

mﬁi% 3% KBEF ftE& ‘ [Xfg] B ‘ [EmE] — | ¥ (&) 12000 B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o Y . . EARE 5
1 717147y Te—t f 3 ai_’g*ﬁk 1.(1_3).7 22 |37.7] 847 | 6 (4;4) Ej:; ()
L:TANVRT Y1 BT7A50H— Sliztae]
it 3 | FXIEAEA 1:14.0 7-5 37.7] 8.0 | 3 438 | BHAEE (ER)
2 8 7J')l//7( A51.0 (1 3/4) (+2) HEXE
RL:d—IK7Yz2—)b B:30/2 SRS
S= e . 4 3 | BREEX :14.0 2-3 38.0|82.0| 2 458 | WIS (RR)
3|5(10| 77>/ T 7> 54.0 ) G2 | @) B-LL—sy
:d—IWKR7Y2—Ib BRI 294 LAY Eae]
. N BB REE : = =g (EX)
alslg| A 1vamyros 4 3 o2 (11'1;/43) 12-12 | 37.6| 79.3 | 12 :fif) P
R:77RUILT B:YI¥x—-Ta1T Y x -5
s e JNExRE 114, - . . BAEEM (EXR)
5 5| VL HTR i 3 e 1(;4@3 2-4 38.2| 79.3 | 16 <4+320) o=z
L:772RVIT7 BISLTHERS [ij=skae
s Rtk — 14. — . . WmkElE (EX)
6 3 AL a g4 F % 3 el (11 1:;1/46) 15-14 37.2|76.6 | 7 (418) é%m
LIV INATA—h— BAA2 3774 e
[N R : - JEHEA (EXR)
2qlol s 7EYY i 3 o 1711\1:? 1-1 38.8| 76.8 | 4 ;1_420) e
R:TTYIEAR B AT4AES ZEHKS
S FLILTR : - NH¥E (BR)
8 1| 7V eIET i 3 AU 17111:)7 5-5 38.5| 75.9 | 1 <4+586) Ll
L:€rs0704 B:UU—LixT HRIEE D5
s 3 | BT 1:14.8 7-7 38.5| 75.0 | 5 480 | FREEM (XH)
9/1]1|¥~/33 54.0 (1/2) (14 |E¥ar¥3TLyKu57
RHYIRT TR B:RAXTLIIT ®RE E—
= st 3 | PEHEX 1:15.2 15-14 | 37.8| 71.2 | 11 | 388 |HHEL (EX)
10 4| 7ZFFXE) - 54. 2 1/2) o) | B FTF-L=27
R:F4—TFA2 7 N B:AOCTXEY — (/) HEa-KL—Ya> AET7
MAEATE :15. - . . 3 eS|
1lglig FEXETAF it 3 e 1(715t>2 11-10 [ 38.7| 71.6 | 15 (4:18) £l
Z:rn7x BAAYN= EEHE
# 3 | RERS 1:15.4 9-7 39.0( 70.1 | 9 458 | HZH1T (BR)
12713 1%L 54.0 1) 4g |EHERE
R:Y=Z24—-3=24— B:O-7>71473 I=atie
_ . . A :15. - . . EPEN (ER
13lgl15| TATMETA—> L] B 1(*7155;1 9-10 39.0| 70.1 | 13 ;1_326) E«ZT{
k714 =>9 By FLg2—F1 iE  ERL
. o/ = FEAN :15. ~ . . A= (EH
1 6| RE—KLaF% i 3 e 1(125)7 5-7 39.5| 67.9 | 8 (4+5:) =
Rix4yavR—5— B:X423IFE—F HEANTT— I
— RN EA#HN . — =2H (FR)
" - MBS i 3 Ea#A (17;12% 13-13 | 38.8| 67.4 | 10 ‘2(3);1 %L,%%:
L:¥xv7T7robw—L B:TVUCECO- A x 4%y K
3 4 3 | REEIC 1:17.0 13-14 | 40.1| 57.8 | 14 430 | BEEB— (RR)
1617 14| 7IVT I X b £52.0 @) o | B =g
R:FATATv— BTU—2HLTF g =igis
@ 71 L
) 50.0-37.9
NA>ZA L | 12.6-11.1-12.1-12.7-12.1-13..1
® I —F—@EBIERL
1T=7r=
20—7—
Gal=7r= 2(5,7,10) (6,12) (1,8) (13,15)16,9(11,14)-(3,4)
40—F— (¥2,7)10,5(8,12) (1,6,13) (16,15)9,11-(3,4,14)
[ N3
B O 7 1,470 714K 7-8 1,640H e E 4-4 4,520M JEHE 7-8-10 6,530/
8 B 7 400M 7-10 1,490M B = 7-8 4,580M B 7-8-10 45,7504
8 200 8-10 640 B H 7-8 9,130/
10 1804

ABICOVWTRDTEEERROODE. TR LIV,




